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COURSE CODE: 



SMA 3111
COURSE TITLE: 



MATHEMATICS I
EXAM VENUE:



STREAM:

DATE:




EXAM SESSION9.00AM- 11.00AM
TIME: 




2 HOURS

Instructions:

1. Answer all questions in Section A and any other 2 questions in Section B

2. Candidates are advised not to write on the question paper

3. Candidates must hand in their answer booklets to the invigilator while in the examination room

QUESTION ONE COMPULSORY ( 30 MARKS)

a) Solve the equation by the use of formulae
6x2 + 11x +3 = 0                                      




(5 marks)
b) The mean of the numbers m, 8m+1, 17 and 20 is 14. Calculate 
( 5 marks)

i) The value of m

ii) Mode

iii) Median
c) Find the co-efficient of x3y3 in the expansion of (2x – 3y)6  
 (5 marks)
d) i)Simplify by rationalizing the denominator.
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   in terms of a and b. 
( 4 marks)
e) Given that u={a,b,c,d,e,f,g} 

A = { a,c,e,f} , B ={ c,d,e} C= {e,f, g}

Find i)   AI                                                            





 ( 1 mark)
      ii) B n C                                                        



( 1 mark)

f) Solve 
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(4 marks)




QUESTION TWO. (20 MARKS)

a) A business woman wants to raise her capital to sh. 20,000.she opens an interest fee account with initial deposit of sh.1, 500 in the first month. She decides to deposit sh.500 per month. After how many years will she be able to raise the capital? 






( 6 marks)

b) The 2nd , 4th and 7th terms of an A.P are the first 3 consecutive terms of s G.P. find 

i) The common ratio 







( 4 marks)

ii) The sum of the first eight terms of the G.P if the common difference of the A.P is 2( 4 marks)

iii) The tenth term.( T10)                       




( 3marks)

iv) The number of terms that will give a sum greater than 660. 
( 3 marks)

QUESTION THREE. ( 20 MARKS)

a) Solve the equation

8-8 cos2 x =8 sin x-2  



(5 marks)
b) A businessman borrowed £1500 at rate of 9% p.a compound interest. He paid £ 450 at the end of each year for 2 years. How much did he have to pay at the end of the third year in order to settle his debts? 
( 4 marks)
c) The figure below shows the region identified for future expansion of an educational facility in Kisumu town.



a) Calculate the value of x 



( 4 marks)

b) Calculate the value of h. 



( 3 marks)

c) Hence calculate the area of the field. 

( 3 marks)

QUESTION 4 (20 MARKS)

a) The figure below shows a Venn diagram, shade the region corresponding to the given expression.


i) ( AI n B) n CI                       ( 3 marks)
ii) Draw a Venndiagram to show 

a) (A n CI) U  BI                                             



( 3 marks)
b) Let A ={1,2,3,4,5} and B ={0,3,6} 

Find i) A u B                                             



(2 marks)

         ii) B - A                                             



(2 marks)

c) Let A,B and C be sets, show that A U (B n C) =(Ċ U Ḃ) n  Ậ         
 ( 6 marks)
d) Let f1 = x3 and f2 =x4 –x3 be a function from A to R. Then find

i) f1 +f2                                               


( 2 marks)

ii) f1 f2                                                                           



( 2 marks)

QUESTION FIVE. (20 MARKS)
The frequency distribution of marks of 80 students is given in the table below.

	MARKS
	1 -10
	11-20
	21 -30
	31 -40
	41 -50
	51-60
	61-70
	71-80
	81-90
	91-100

	FREQUENCY
	1
	6
	10
	20
	15
	5
	14
	5
	3
	1


Using an assumed mean of 40.5
Calculate

a)   i)The mean 

ii) Variance
iii) Standard deviation  ( 12 marks)
b) Draw an ogive curve from the above data and estimate the median mark. 










( 8 marks)
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